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-

Instructions
-

· Discussion is allowed and infact encouraged
· Answers must be written by yourself.
· All sources (including discussions) thatore used

to reach the solution must be mentioned.

-

① Find the error in the following proof that
2= 1

.

Let a
,
b be any two integus such that a=b.

Then , at = al (Multiplying by a

=> at- b2 = ab - b2 (subtracting by b2)

=> (a+b)(a - b) = (a - b) b /Factoring)
=> a +b = b (Dividing by (a-b))

Substituting a =b = 1
,
we get the required

Statement- [2]

② What is the cardinality of the following sets ?
i) Set of strings once It so , 13 that have

length n
ii) Set of stringsore I = 30 , 13 .

iii) Set of Languages over [ = 20113 · [1 + 2+ 2]



③ What is the formal description of the
&

following machine ? What is the language

↑
accepted by it ?

⑳
Prove it's

ax x3 correctness.

a b

bf)(aaan)(ab
& Ga [3+ 3]

④ Give state diagrams of DFA's recognising
the following languages over 30, 13 .

Prove it's correctness .

i) All strings except the empty string.
ii) The empty set

iii) All strings that start with zeo and
has odd length or starts with

one and has even length . [2+ 2 + 4)

⑤ be the construction done in class



to draw an equivalent DFA for the

following NFA . Proof of correctness
is not required.

--

at
③
De [4]


